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51. ^ cj1<h

^ lqf)|T f :

(A)

(C)

(D) tM

52. ^ Tf Wfl ̂  ̂TRI3^IR

•37^M ̂  :

(A) PyPel^H, 5fN#5FT, Tj^^^qtfWT

(B) 3;=fH#jH, pHPcrl^H,

(C) i^tr^MlPH^H, "dter, P^^Pd^H

(D) 3TN#5FT, A.m1P^i^h

53. OT f^ "nrr tT^TShfN 33^ ̂

^ .fer^ ?

(A) xrpi".

(B) it. •^. wit

(C) "it. M

(D) it.

(3)S/12/2022/A 1

51. Hie crust and the solid uppermost mantle

together are called :

(A) Lithosphere

(B) Asthenosphere

(C) Cryosphere

(D) Moho Discontinuity

52. Find the descending order of elements by

weight that constitute earth's crust :

(A) Silicon, Oxygen, Aluminium

(B) Oxygen, Silicon, Aluminium

(C) Aluminium, Iron, Silicon

(D) Iron, Oxygen, Magnesium

53. Who among the following supported the

notion of continental drift given by

Wegener ?

(A) F. B. Taylor

(B) P. J. Wyllie

(C) C. Raymo

(D) B. F. Windley

P.T.O.



54. ^ t :

(A) WT

(B) ̂  ̂

(C)

(D) .

55. ^<i "41^ '^' ^ :

(A) "Q^* ^

(B) 3TSffNR Krld ^

(C) "q;^* "3^ ̂AR=+iH

(D) 3T^R^ ̂  (1^ '^') "^*

(mR^h ■^*)

56. ^ ̂ Rr "P^H
^'c^Rd "gRit f, ^3;^ o^-s ^"-s
T^ ^ "33 "33 t 13^*

"#11 eiRitn ^ t I

^ RrH ^ t :

(A) ^

(B) TITT7FT TO

(C) TO

(D) #5^
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54. The origin of deposit 'Lahar' is

associated with :

(A) Wind

(B) Water

(C) Volcano '

(D) Underground water

55. Nazca plate is wedged between :

(A) African Plate and Eurasian Plate

(B) African Plate and Arabian Plate

(C)' Caribbean Plate and North

American Plate

(D) South American Plate to the east

and the Pacific Plate to the west

56. When cruhtal rock is compressed into a
smaller horizontal space, shortening of
the crust is achieved by one block riding
over the other along a steep fault plane
between them. The structure so fomied

is called :

(A) Thrust Fault

(B) Normal Fault

(C) Reverse Fault

(D) Horst

r"
\
I

\



57. ^ ̂  ̂ t :

(A)

(B) TRTFTf^

(C)

(D)

58. TZ?7. ^ ^n^fer

3^^^ "I :

(A)

(C)

(B)

(D) hIhi^Tchh

59. 3Ri€^ TRJK ̂  t

(A) (B)

(C) 31WF (D)

60. 37e^ 31^ ̂  an^, WT 133

(A)

(B)

(C) "=9^^

(D)

(3)S/12/2022/A

57. Physical weathering is also called ;

(A) Mechanical weathering

(B) Chemical weathering

(C) Biological weathering

(D) Hydrolysis

58. W. M: Davis called most prominent not

yet eroded emnants as :

(A) Peneplain (B) Interfluves

(C) Pediplain. (D) Monadrocks

59. An intrusive form of rock batholith is :

(A) Concordant (B) Discordant

(C) Exfoliation (D) Jointing

0

60. Geologists refer to a region of consistent

rocks, in terms of age, type and structure

' as :

(A) Graben

(B) Phreatic eruption

(C) Suspect Terrane

(D) Terrane

P.T.O.



61. rHHPdRsJd ^ ̂

aro^ PHHdH ^ t ?

(A) afnf^ (B) arN^sR

(C) (D) fr#T

62. ^ ̂ ̂  ̂ aik ^ilddl-M wff

^ an^ f :

(A) y^fiim H"-sei—^T^^TFff Hsu—^T^an

^—■3^

(B) WRT "^an WT—

WT—3?^

(C) TmRT WT—

"^an Hci-i

(D) 3mHT w—3<^r^
"Wan Hq'i

vd

63. ^ ^el^l3 ^nf^OT ^ ar^ Cfa

^ X?lfcIT t ?

(A) arr^ ^<rl<dl3

(B) ar^Tf^ik

(C) anlM"!

(D) ^
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61. The gas with lowest percentage of the

volume of dry air from the following is :

(A) Argon (B) Oxygen

(C) Helium (D) Neon

62. The idealized global pattern of surface

winds from equator to poles is :

(A) Doldrums—Trade winds—

Westerlies—Easterlies

(B) Doldrums—Westerlies—Trade

winds—Easterlies

(C) Doldrums—Easterlies—Trade

winds—Westerlies

(D) Doldrums—^Trade winds—

Easterlies—Westerlies

63. According to Koppen's climate

classification, - the letter symbol Cfa

represents :

(A) Humid subtropical climate

(B) Middle-latitude desert climate

(C) Subtropical desert climate

(D) Steppe climate



3T?2m* -cb^dldl t I

(A) 51T|#*T

(B) cpR^

(C)

(D) ^<=hi^

65. PdHrdPteld ■^* 4)1h^1 ^T^CIITT ■ "5^
^#7 ^ ̂ #dt t,

^ •tft! W t ^

sik 3T^ ^ t ?

(A) ^:#T ^ ̂
(CPKS)

(B) ^
(CPKU)

(C) trwrSWh?

(CPWS)

(D) "^4 aiftsTC
.  (CPWU)

66. 3ll^HHU^d Tf -f^ OT W, ^ ̂ ^MP^^d

^ W t ?

(A) FW

(C) EW

(3)S/12/2022/A

(B) D W

(D) MW

64. The dating and study of annual rings in

trees is called :

(A) Isotope analysis

(B) Climax vegetation

(C) Dendrochronology

(D) Vegetation Index

65. Which one of the following air masses

represents continental polar air mass,

heated from below and unstable aloft ?

(A) Continental Polar Kalt Stable

Airmass (CPKS)

(B) Continental Polar Kalt Unstable

Airmass (CPKU) .

(C) Continental Polar Warm Stable

Airmass (CPWS)
/

(D) Continental Polar Warm Unstable

Airmass (CPWU)

66. Which layer of ionosphere is present

both during day and night ?

(A) F Layer (B) D Layer

(C) E Layer (D) M Layer

P.T.O,



67. ^ 5° ̂  ̂

t :

(A) elai "i"

(B) WRN ̂  ̂ dlMMH ̂  ̂ t

(C) ̂  f^nti<"l "3^ "^klT f

(D) "f^S^W "^kTr "I

68. ^ "^* 3®^ ^ ̂ ̂

(A) 140 "Mt.

(B) 147 rHPd^H "M.

(C) 152fi#m f^.

(D) 156fr#m fMt.

69. ^ ̂ <irtirSld ^ ^ ̂

■mm w ^ "af^^

W?T t ?

(A) 43% (B) 49%

(C) 7% (D) 1%

70. cIIMHIH HlHd "=11011 f^TT^y
TTN^- ^ ̂  Mt ^

t I

(A) TTFPft

(B) TTN^

(C)'

(D) dlRr^H
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67. Hurricanes do not form within 5 degrees
•  of equator because :

(A) The Coriolis force is too weak

(B) The ocean water temperatures are
low

(C) The solar radiation is too high

(D) The Coriolis force is too strong

68. During perihelion, the distance between

Earth and Sun is approximately ;

(A) 140 million kilometers

(B) 147 million kilometers

(C) 152 million kilometers

(D) 156 million kilometers

69. Out of the total energy emitted by

the Sun, the visible light represents

about :

(A) 43% (B) 49%

(C) 7% (D) 1%

70. Absolute scale used to measure

. temperature is also called as :

(A) Beaufort scale

(B) Fahrenheit scale

(C) Celsius scale

(D) Kelvin scale



71. PlHldRdd "^1

^  t ?

(A) ̂

(B) m

(C) ̂

(D) 'j^funitiol "fw^ *=11011 ^I'O

72. 1^ ̂  ^ t ?

(A) WR (B) iJ?T WR

(C) *Srw^H WT (D) ̂ RPd-m WK

73. ^srfe ^

t ?

(A) ̂

(B) "51^

(C)

(D) ^

74. "S^RTW *31^ "^' 1^ ̂

Ptidi^ <=l6d1 ^ ?

(A) 9n^ (B) Ar=Hldi1

(C) (D) ̂

(3)S/12/2022/A .

71. Which of the followmg factors influences

the salinity of the ocean ?

(A) Land

(B) Wind

(C) River

(D) Volcanic ash

72. Which is the world's most saline sea ?

(A) Black sea (B) Dead sea

(C) Caspian sea (D) Caribbean sea

73. The Subsidence Theory of Darwin is

related to : .

(A) Marine Terraces

(B) Coral Reefs

(C) Cycle of Erosion

(D) Tides

74. El Nino, a subsurface warm current

flows along the coast of :

(A) Brazil (B) Mexico

(C) Peru (D) Norway

P.T.O



75. PinRrlRsId

t?

(A) 3PI^T?R?

(B) flMlcn

(C)

(D)

76. ^ =*>!<"! ^ ?

(A) ^ ^ ̂mM

(B)

(C) ^

(D) ^

77. ^ t 1^RT^ 3?q^

^ ̂ t :

(A) 3^ ̂ K

(B) ̂  W

(C) ̂  ̂

P) ̂  ̂  ̂

(3)S/12/2022/A

75. Which among the following a cold

current ?

(A) Agulhas

(B) Brazil

(C) Gulfstream

(D) Canarie

76. What cause is responsible for the origin

of Tides ?

(A) Attraction of the Sun and the Moon

(B) Atmospheric pressure

(C) Attraction of the Earth

(D) Rotation of the Earth

77. 'Tsunamis' are sea waves which are

generated by :

(A) The High Tide

(B) The Sea Storm

(C) Earthquakes on the Land

(D) Undersea-Earthquakes

8
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78. TTWFRf ̂  W ̂ Mm

^ t ?

(A) ̂  ̂  ̂ w #cft t

fer^ WTR TTT

WRH WT t

(B) ̂  w 200 ite: ̂  -^mi

"*71^ ^3n?it t"

(C) ̂  w ^ HS7

'jTRfT t

(D) IH TO TOjf ̂  "^TT^T cjlHHH

nRqcT-i "5^ "i"

79. "^7^ fefN STTO ifro

t :

(A) TWRf WWR -^f

(B) "^tRI" Sii^iRdcti "TOWR ■^'

(C) ^ 3mRI TOWR ■^'

(D) a7E^#z^ "TOWR

80. ^ ̂  ̂  toRt '% TO

^ yRiwim tror ?

(A) (B) '^.

(C) IT. (D) "q.

(3)S/12/2022/A £

78. What is the main characteristic of

thermocline layer in ocean ?

(A) It is the warmest layer of water in

which temperature is almost equal

at all depth

(B) This layer is found upto the depth

of 200 metres in the ocean

(C) In this layer pressure increases with

increasing depth

(D) Temperature changes rapidly in this

layer with increasing depth

79. The Bermuda Triangle or Devil's

Triangle lies in :

(A) South Pacific Ocean

(B) North Atlantic Ocean

(C) North Pacific Ocean

(D) South Atlantic Ocean

■ 80. Who propounded the "stationary wave'

theory of the origin of tides ?

(A) W. Whewell (B) T. Garrison

(C) A. Strahler (D) R. A. Harris

P.T.O.



81. qRfHH

fern nfem ^=fe ^arfer^ ̂

t ?

(A) 0.38%

(C) 0.032%

(B) 0.29%

(D) 0.029%

82. TTPm-nnfeJT WFT ■^*

■qpT^ ^ 37^ ^

TTHT W t ?

(A) "OTTH

(B) ^MMIM

(C) WFT

(D) aTlfe -^WT

83. ferfefe ■^* ^ ̂Rd'j^
^ fer 3t11<|41 "nFf t ?

(A) CO2 (B) CH4

(C) N2O (D) 2N0

84. MRdicrMdi sMn w ̂

^ t ?

(A) 3ffeT^ MRchc^Hi

(B) ^t^ ^HdlMHU^dl^

(C) 3RR-nRnr hRcHctMHI

(D) wfe HR=bQ'H'1l
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81. At present, what is the concentration of

Corban dioxide in the total gaseous

composition of the atmosphere ?

(A) 0.38% (B) 0.29%

(C) 0.032% (D) 0.029%

82. In which approach of human-

environment relations, man was

considered superior to nature and all

other living beings ?

(A) Deterministic approach

(B) Teleological approach

(C) Possibilistic approach

(D) Economic deterministic approach

83. Which of the following gas is not
responsible for increasing the "Green
house Effect" ?

(A) CO2

(C) N2O

(B) CH4
(D) 2N0

84. Which hypothesis is not related to ozone

depletion ?

(A) Nitrogen Oxides Hypothesis

(B) Polar Stratospheric Clouds
Hypothesis

(C) Inter-Steller Dust Hypothesis

(D) Sulfate Hypothesis



85. [hcim :

I  ̂11

(1) (i) 1986

(2) ^Twrfer (ii) 1991

(3) ̂  (iii) 1995

(4) "qfe^ (iv) 2002

(A)

(B)

(C)

(D)

(1) (2) (3) (4)

(i) (iii) (iv) (ii)

(i) (ii) (iii) (iv)

(ii) (i) (iv) (iii)

(iv) (iii) (ii) (i)

86. Pi^RiRaa ^ c^I-hhI

"3^^ ̂  ̂ ̂  i ?

(A) WT 'mR

(B) 300 ̂

(C) ^FT dlMHH #TT

(D) Tif^ ^ TFf -q^* ̂

■q^

85. Match correctly :

List I List II

(i) 1986

(3)S/12/2022/A 11

(1) Environmental

Protection Act

(2) National (ii) 1991

Environmental

Tribunal Act

(3) Biodiversity Act (iii) 1995

(4). Public Liability (iv) 2002

Insurance Act

Codes :

(I) (2) (3) (4)

(A) (i) (iii) (iv) (ii)

(B) (i) (ii) (iii) (iv)

(C) (ii) (i) (iv) (iii)

(D) (iv) (iii) (ii) (i)

86. Which of the following is not a

•  characteristic of an urban heat island ?

(A) Local Convective Wind Flow

(B) Height 300 metre

(C) High temperature in central part

(D) Warm air flow in cities at night

P.T.O.
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87. m (Ecosystem) ^

ZRT^ ̂  ̂  ferr ?

(A) 1935 (B) 1942

(C) 1963 (D) 1971

88. frote

TOT t ?

(A) ̂  ^

(B) ̂  m

(C) "31^ frote "^*

(D) w -qiftf^fT^ ̂  twfe

89. 311^ sffT ^5^ ̂  "q;^*

"Q^ "q^qni ^ 5hH®("&

"^' ^ ̂61 ^icll ^ I

(A) "qW^ ̂  (B)

(C) (D) ̂

90. RHPelR^d "^' ^ ̂

ST^TO t ?

(A)

(B) t^lH ̂

(C) ̂

(D) oqiM4i cuP^dli^l

(3)S/12/2022/A 12

87. When was the word ^Ecosystem' first

used by A. G Tansley ?

(A) 1935 (B) 1942

(C) 1963 (D) 1971

88. In which ecological pyramid is an

inverted pyramid formed ?

(A) In number pyramid of forest

ecology

(B) In biomass pyramid

(C) In pyramid of energy

(D) In number pyramid of Grass

ecology

89. Transfer and communication of food and

energy from one trophic level to another

in an orderly manner is called :

(A) Trophic level (B) Food chain

(C) Food net (D) All of these

90. Which of the following is not responsible

for the degradation of land ?

(A) Mining work

(B) Construction work

(C) Air pollution

(D) Widespread deforestation



W-'

91. ^ 8000 il;

^  ̂'KnVsqi ^ :

(A) lOcTT^

(C) 50en^

(B) 20 emsT

(D) 30

92. ^ cteFT ̂  ̂

t :

(A) sMttNtw

(B)

(C) Hnt' •^* WR ̂

. (D) 6H^<^ ^ ̂

93. ^ ^ ̂ferr

t ?

(A) I^T^^ciMf ̂  ̂

(B) "StT^ Fj^FTT

(C) "QJW

(D)

94. RnRrlRsld ^ ̂  3TTH ̂  ̂

^  ̂ ■^* ^r^Pdd "W t ?

(A) 10^ (B) 12^

(C) 15^ (D) 18^

(3)S/12/2022/A 13

91. According to one estimate the total

population of the world in 8000 BC

was :

(A) 10 lakh (B) 20 lakli

(C) 50 lakh (D) 30 lakh

92. The main reason for the rapid growth of

population in urban area is :

(A) Industrialization

(B) Glamorous life-style

(C) High fertility rate in city

(D) None of the above

93. Which of these is the most populated

area ?

(A) Equatorial Dense Forest

(B) North East Asia

(C) East Asia

(D) Africa

94. Children of which of the following age

group are included in the youth

category ?

(A) 10 years (B) 12 years

(C) 15 years (D) 18 years

P.T.O.



95. WSW ̂  "^praisZTT

"teRT ̂  yldMKH ̂  ?

(A) 1928 (B) 1898

(C) 1798 (D) 1575

96. ^1hi ̂  R\<m ?

(A) ̂  Tit (B) A

(C) (D) W«FT

97. "■^RWfer^ Wrpji

t H«1T flH ^5RK^ "qr ^ t l"

(A) (B) -qte

(C) 1W2RT P)

98. iRmn uRmidH twr ^ f ?

(A) ^ ■^* ^ ^

t

(B) -sFRfeqr fRT ^ ^ ̂

t

(C) ^ ̂-H lj?g ^ ̂

t

(D) <i4^4d -^f ^ ^ -q^f

95. When did Thomas Robert Malthus

propound the theory of population ?

(A) in 1928 (B) in 1898

(C) in 1798 (D) in 1575

96. Who gave the theory of limit to the rate
of growth ?

(A) John Murray (B) J. Forrester

(C) Krik (D) Malthus

97. "Demographic transition is a population

cycle that begins with a decline in the

death rate and ends with a low birth

rate." Whose statement is this ?

(A) Dolan

(C) Malthus

(B) Foster

(D) Notestein

98. When does. the Law of Diminishing

Return, apply ?

(A) When population growth becomes

excessive

(B) When population declines at a rapid

rate

(C) When birth and death rates are high

(D) None of the above

(3)S/12/2022/A 14



99.- "Mw ^ ̂  PiHRrlfeT ^ 99.

'^m\ ^ t ?

(A)

(B) ̂ 5^ "^-"^

(C) fFT

(D)

100. 2001-2011 ^ "3^ 100.

^  ̂ ̂ t :

(A) 15.50% (B) 20.30%

(C) 17.70% (D) 10.12%

101. 371^7 ^ 101.

rHMPdRsId ^ 4^-^HI "W t 1

I ̂  ̂  II ^ :

I  ̂3^ II

snSra? "^ifMorfsr '% ̂

(a). "3T?lfe (1) 11^

(b) "fefte (2)

(c) ^#1^ (3) ̂

(d) (4) %TT

ehls :

(A) (a)-(l), (b)-(2), (c)-(3), (d)-(4)

(B) (a)-(3), (b)-(4), (c)-(l), (d)-(2)

(C) (a)-(4), (b)-(3), (c)-(2), (d)-(l)

(D) (a)-(2), (b)-(l), (c)-(4), (d)-(3)

{3)S/12/2022/A 15

Which of the following statements is true

about developed countries ?

(A) High birth-rate

(B) High death-rate

(C) Low death-rate

(D) Low birth and death-rate

Population growth rate of Madhya

Pradesh in the decade 2001-2011 is :

(A) 15.50%

(C) 17.70%

(B) 20.30%

(D) 10.12%

Spatial organization of economic

activities is identified by the following

collars.

Match List I with List II :

List I List II

Economic Colour of

Activities Collar

(a) Primary (1) Pink

(b) Secondary (2) White

(c) Tertiary (3) Red

(d) Quaternary (4) Blue

Codes :

(A) (a)-(l), (b)-(2), (c)-(3), (d)-(4)

(B) (a)-(3), (b)-(4), (c)-(l), (d)-(2)

(C) (a)-(4), (b)-(3), (c)-(2), (d)-(l)

(D) (a)-(2), (b)-(l), (c)-(4), (d)-(3)

P.T.O.



102. 41 ^^sqa:

(A) >^<riqi^ ^ ^

(B) dchHlch1 few

(C) ?^<lddl^ ^

(D) MPd^d ^

103. fe#Tfe ^ferr miK *ffe

^ Tt^ t ?

(B) dMIdhl

(C) ̂  -q^'

(D) 3FT <icMKcb ^

104. ̂ TTfe ̂  313^ ""qfef ̂  fefd

-  ̂  ̂ TTfecTAffef ̂  Wn"-"27F

^-dd)ldi PiMfdHsld ^ "WTT "^Wn t :

(A) ?TFT fe^^cTT

(B) WT d^Hdl

(C) ̂ ifef

(D) ̂  W4fe

(3)S/12/2022/A 16

102. The distribution of biotic resources in the

world is mainly related to :

(A) Climatic conditions

(B) Technological development

(C) Surface features

(D) Network of transportation

103. Which of the following is not a form of

commercial farming ?

(A) Mediterranean

(B) Horticulture

(C) Slash and bum farming

(D) Grain farming

104. According to Bhatia percentage of area

sown under crops divided by number of

crops"— this index calculates the

following :

(A) Crop Diversification

(B) Cropping Intensity

(C) Agricultural Efficiency

(D) Crop Combination



•y T-*

105. ^ %TT PI = —: —
Y T

(A)

(C)

(B) ̂

(D)

106. tt. ̂  :5^ ̂

PiMRrifed wm "STfro

^ ̂ ̂  if t ?

(A) <^ci^K ^5WI

(B) "qiRfW^ WFT

(C) STfqwft^ ■5WT

(D) ^ ^ ̂ITO dMl'IH

107. ^ WFT

rdHPdRsJd ^ TT^ ^ ^

®7F TOTT t ;

(A) TTfWr

(B) T7M ^ oII^kT "qcIT

ei'iMi

(C) -^rFTcI

(D) cf^ <icHKH '% ^ "OT

{3)S/12/2022/A 17

105. Who applied the formula of

„T _ Y T
il- —•— for measuring the

agricultural productivity ?

(A) Enedy (B) Weaver

(C) Bhatia (D) Shafi

106. According to A. Pred, the location of an

industry is closely associated with which

among the following approaches ?

(A) Behavioural approach

(B) Ecological approach

(C) Profit maximising approach

(D) Least cost approach'

107. Alfred Weber's Least Cost theory takes

into account all the following except

one:

(A) Transportation cost

(B) Locating markets close to raw

materials

(C) Agglomeration costs

(D) Consumer demand for the fmished

product

P.T.O.



108. PiMreifeci

T^" 3Tlf.#."^. ■^" ^

t ?

(A) VM ■^* 3T1^.^.^.

(B) f^TRk ■^*

(C)

(D)

109; I ̂  II iiAPeid "o;^*

I  II

■^TTT hTs?i W "^TTTT

(a) (1)

(b) (2)

(c) (3) phrm

"3^

:

(A) (a)-(2), (b)-(3), (c)-(l)

(B) (a)-(3), (b)-(2), (c)-(l)

(C) (a)-(3), (b)-(l), (c)-(2)

(D) (a)-(l), (b)-(2), (c)-(3)

(3)3/12/2022/A

.108. Which of the following examples

illustrates the application of ICT in

teaching ?

(A) ICT in languages

(B) ICT in graphic creation

(C) Spreadsheet design

(D) All of the above

109. Match the List I with List II and give

correct answer :

List I List II

Name Model Name

(a) Myrdal (1) Centro-
Periphery

(b) Hirschmann (2) Circular and
cumulative

causation

model

(c) Friedman (3) Polarisation

and Trickle

Down effects

Codes :

(A) (a)-(2), (b)-(3), (c)-(l)

(B) (a)-(3), (b)-(2), (c)-(l)

(C) (a)-(3), (b)-(l), (c)-(2)

(D) (a)-(l), (b)-(2), (c)-(3)

18



3.

110. M ^

^KldH" ̂  fmW ■^*

^ t?

(I) ^KlcrU 8TT ^ 1984

^ %2TT W «TT I

(II) fH SIKldH ^ ^hPT #rft* ^

■  ̂ ^ cft^, "3^ M

^  WTI^ ^ #rff ^ %3; wW

i

:

(A) Q 3^ (II)
(B) H ^ (I) ^ (II)

(C) (II)

(D) tiqoi (I)

111. ^ ̂  iTrrf^ t ■:

(A) ^ ̂

(B) 3M1^ ^ TTM 37fe ^

■  t

(C) # Tjf^ f

(D) r^Hl^lRd -q^

(3)S/12/2022/A 19

110. Which of the given statements is true in

the context of "The Kittiko Hachchiko

Movement" ?

(I) This was non-violent movement

that was started in 1984. '

(II) During this movement, people

plucked saplings of trees tliat were

useful for the people.

Codes :

(A) (I) and- ai)

(B) Neither (I) nor (II)

(C) Onlyai)

(D) Only (I)

111. 'Goitre' is-a disease more prevalent in

. areas :

(A) Closer to Sea

(B) That have higia iodine content

(C) That are infested with mosquito

(D) That are glaciated mountains

P.T.O.



112. TO ̂  RHRriR^d ^ ^

TOinM ̂  3T5W

3Tfe t ?

(A) TI^

(B)

(C) MtiT

(D) TÔ

113. TO ^:i^r^d- ^ aM^ cr| ̂

■tR t :

(A) ^ ■^'

(B) afk R

(C) ddl^lRd

(D) "^Tete

114. TO "RTO ^H'^lPd "3?sq ^ ^

^ t :

(A) dldPlR ^ M^lfeqT ■^'

(B) ^ "q^R "^f

■(C) aRl^ ^ m^iM*

(D) qP^^Ml W "^f

(3)S/12/2022/A 20

112. Which of the following States of India

has the highest proportion of Scheduled

Tribes in its population ?

(A) Madhya Pradesh

(B) Odisha

(C) Mizoram

(D) Nagaland

113. The Scheduled Caste population in India

is largely concentrated in :

(A) Arid tracts

(B) Hilly and mountainous tracts

(C) Forested tracts

(D) Alluvial plains

114. The Santhals in India are mainly

concentrated in :

(A) Nilgiri Hills

(B) Chota Nagpur Plateau

(C) Aravalli Hills

(D) Western Ghats



115. PhhRiRsIcI

wfe ^ ^ 3T«Tm

t 7

(A) ̂

(B) olcti<<1lQl

(C) ̂

'(D) ̂

116. W ̂ PlHfdRsId ^ TRq

"^^rrfW m "rI^

t ?

(A)

(B) "3^ "R^

(C) feR

(D)

117. rHHPdRsId ^ RTRT "R^R

"4* t ?

(A) RT^ (B) ̂

(C) ̂  (D) ̂

118. RRcI ^ fFT ^ 7PR "^'

SRRT^ Rte" t ?

(A) 37?TriTR^ ̂

(B)

(C)

(D) lRRhR

(3)S/12/2022/A 21

115. Which of the following tribal

communities traditionally practice

'transhumance' ?

(A) Bodos

(B) Gujjar Bakarwals

(C) Adis

(D) Garos

116. Which of the following States of India

has the highest percentage of Scheduled

Castes in its population ?

(A) Punjab

(B) Uttar Pradesh

(C) Bihar

(D) Rajasthan

117. Which of the following is not included

in Dravidian family of languages ?

(A) Malto (B) Tulu

(C) Gondi (D) Mundari

118. Which of the following States of India

has the highest Buddhist population ?

(A) Arunachal Pradesh

(B) Maharashtra

(C) Jammu Kashmir

(D) Mizoram

P.T.O.



m

119. RMRHR^d ^

^ t ? -

(A) 3TR|fw

(B) -^, -qJw 3fk

. (C) "3iT^ artfer 3|r 3T^ft^

(D) "STNPT, -fW^Tfe 3^

120. *feRf' ̂  ^ fro^fecT

1^ ̂  ̂ ^ SRPftr wft^

fen -mil

(A)

(B) Tfsnr

(C) wnffe)

(D) 3tiK^

1-21. feM fefe W sffqi ^^liii4)1"

fer^ OT fê  ̂  t ?

(A) T^^T. cT^n -so^

(B) ̂  tnfer

(C)

(D) ̂ ife ̂

119. Mackinder called which of the following

as 'World Island' ?

(A) Australia and New Zealand

(B) Europe, Asia and Africa

(C) North America and South America

(D) Japan, Philippines and Indonesia

120. 'Ideas' or 'beliefs' are classified under

which of the following categories of

culture ?

(A) Postfact

(B) Mentifact

(C) Sociofacts

(D) Artefacts

121. "The Sprit and Purpose of Geography"

book is written by :

(A) S. W. Wooldridge and W. 0. East

(B) Peter Heylin

(C) Carl 0. Saver

(D) David Harvey

(3)S/12/2022/A 22



122. snfwfw ^

1^ ̂  ̂  1758 "fim

.  "w ?

(A) (B)

(C) (D) ̂

123. -"^ feHiei-Hl "^rf^*

(A) (B)

(C) 37^-^f^ (D)

124. 'Ww' TJ^ '^IHM ^3^'

^ 1TS2T ^ ?

(A)

(C)

(B)

(D) ̂f%TT

125. "STt^ ̂  RH-^H ^ uFTF,

OMKSHI ^ "^TT STRBTfif^

^81T- TR^ I

(A)

(B) qf?!^

(C)

(D) ̂ Hqi^cji<^

(3)S/12/2022/A 23

122. The first officially named "Department of

Geography" was opened in which

country in the year 1758 ?

(A) Britain (B) France

(C) Germany (D) Russia

123. The Arab Geographer, explained

the erosional actions of the Himalayan

Rivers.

(A) Al-BerUni (B) Al-Masudi

(C) Al-Balkhi (D) AI-Mamun

124. For the first time, who clarified the

relationship between 'Special' and

'General Geography' ?

(A) Kant (B) Humboldt

(C) Varenius (D) Busching

125. Darwin's theory introduced randomness

and for explaining phenomena

replacing Telelogy.

(A) Determinism

(B) Chance factor

(C) Possibility

(D) Exceptionalism

P.T.O.



126. ^ ^ ̂Iqqi tiHMcii

^  ̂ TTRmi ̂  ?

(A) fe

(C) fefe

(B)

(D)

127. <iHl^ciT ^ arf^

^ "qftw arf^

^ "qr t ?

(A) ̂

(C) .

(B)

(D)

128. 1950 ^ "q^

tiffw "qft^ qr % :

(A) q^-1q?^TOK ̂

(B) ̂ #T q.=hl=h<ui

(C) 31^3^ HRcicfic^K ^ "qm^

(D) qte ̂ 3^ "qm

126. Who recognised the validity of

Humboldt's idea of terrestrial unity as an

organic whole ?

(A) Ritter

(C) Ratzel

(B) Johnston

(D) Saver

127. The difinition of Geography as "The

Science of Distribution" had cropped up

during the last quarter of 19th century

based on the work of :

(A) Sten

(C) Morthe

(B) Doring

(D) Hartshome

128. "The Schaefer-Hartshome debate" of the

1950s brought about a distinctive shift in

emphasis from :

(A) Neo-Determinism to Possibilism

(B) Areal differentiation to spatial

integration

(C) Radicalism to Humanism

(D) Physical to Human Geography

(3)S/12/2022/A 24



129. I ^ II

^ HFT ■'T^ I I cJ^IT
^ II ^ ^«IT ^
■^tR -^Pm. :

(a) 3Tfqi

v^liJI4il

(b) ^WTRT

(i)

"^11
^AlM.cr! we

(ii) m.

(c) rshPd^ 3W (iii) WrRT
^'1< thrr

qT*i(d) ^?%TfWT

:

(A) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) .

(C) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(D) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

130. "fw Tfel ^

31^, '^TRt^

^ ̂  WT t %

HP^dl^ Wm ■^* 31%fpRST ■^*

t 3|r ^ ^ -sncit f" ?

(A) STRT

(B) ^liJir4>=bd TT^M^TWI

(C) TT^f^H

(D) ^ Hff^

(3)S/12/2022/A

129, Books are given in List I and the names

of their authors are given in List II.
Match List I and List II correctly and

choose the correct answer :

List I List II

(a) Nature of (i) Immanuel

Geography Kant

(b) Kosmos (ii) R. Hartshome

(c) Critics of (iii) Varenius

Pure Reason

(d) Geographia (iv) Alexander Von

Generalis Humboldt

Codes :

(A) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

(B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(C) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(D) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

130. According to which women and
geography study group 'feminist
geography' tries to "analyse and
understand why women remain in
subordinate position in society and the
profession" ?

(A) Association of American

Geographers

(B) Swedish Geographical Association

(C) German Psychological Association

(D) Institute of British Geographers

25 P.T.O.



131. PlHfdfed ^ TOT ̂  ̂  "SW

t ?

(A) (B) <h{Mi

(C) (D) TPTiZ

132. ^ "^-^'^irszTtTT MPd-d^d ^

t ? ,

(A) Wd^d yfd^-^d

(B) WT ̂l<|r^cb "Rf^n

(C) yPd^^d

(D) Vfldld MPd-d^H

133. PHHPdP^sTd "d" "RTOft

'  t ? .
(A) WGS 40 (B) WGS 50

(C) WGS 84 (D) WGS 88

134. Pi*^RiRaa 3ITO

"RT "^T^ "^^RTT f ?

(A) "TO 4<lA*dd1, 5fTTO^,

W?T

(B) "RTHT PtX'jl,

dy-MHH "RTOT

(C) TOT 1^", ̂ WTPT "RTOT,

(D) "TO f^*, Md^ddl, ̂ WTT^ RTOT,

(3)S/12/2022M 26

131. Which of the following is a remote

sensing satellite of France ?

(A) Landsat (B) Cartosat

.(C) Quickbird (D) SPOT

132. Which of the following is an example of

non-probability sampling ?

(A) Stratified sampling

(B) Simple Random sampling

(C) Systematic sampling

(D) Snowball sampling

133. Which of the following is a reference

system ?

(A) WGS 40 (B) WGS 50

(C) WGS 84 (D) WGS 88

134. Which of the following is the correct

order according to increasing

wavelength ?

(A) Gamma rays, Ultraviolet, Infrared,

Visible light

(B) Ultraviolet, Gamma rays. Infrared,

Visible light

(C) Infrared, Gamma rays, Visible light.

Ultraviolet

(D) Gamma rays, Ultraviolet, Visible

light. Infrared



135. fHHl'Rid ^ TR

HHfe ̂  6<}^m t ?

(A) MMP^d

(B) PlM ^ HIiF^:1

(C) ̂

(D) ̂  HMP^d

136. ^ t^STrfh site t ?

(A) TTT??R

(B)

(C) <H^ci=h

(D) HHcti fq-cjeli

137. ̂ dHl=^K "5T^ ̂

®TT ?

(A) 'Jlled ^-iR-q

(B) RkI^^

(C) W

(D) Pl=bld4H

(3)S/12/2022/A

135. Which of the following is an example of

map classified by subject matter ?

(A) General Reference Map

(B) Small Scale Maps

(C) Charts

(D) Cadastral Maps

136. Which of the following is positional

average ?

(A) Mean

(B) Median

(C) Mode

(D) Standard Deviation

137. Who made the cylindrical equal-area

projection first ?

(A) Johann Heinrich Lambert

(B) Gerardus Mercator

(C) Gall

(D) Nicolas Sanson

27 P.T.O,



138. PlMRriRdd TTFTf^ "3^ ̂

^ ̂ 3FTW t ?

(A) "flrf^ I^^^cTN WT«2l 31^

(B) ^t^

(C) dM=hluO^ 3?^

(D) Vl^l^K 31^

139. PiMPdRsid ■^* '^vm m

3™: t ?

(A) "^TCT trfr^fk^FTq

(B) nR^r^dint

(C) ST^KlPMd

(D) 3Tr^ MRx^JP^dilit

140. ST^r^Tt^ ^ "^* MRdJd ^ ̂  ̂

WT MRdcfd ^ t :

(A) ^

(B) l3fRPTd

(C) ^llcrl=W

(D) ^

{3)S/12/2022/A 28

138. In which of the following map

projections the source of light is at

infinite ?

(A) Stereographic 'equatorial zenithal

projection

(B) .Stereographic polar zenithal

projection

(C) Orthographic polar zenithal

projection

(D) Conical projection

139. Which of the following is not a kind of

profiles ?

(A) Serial profiles

(B) Linear profiles

(C) Superimposed profiles

(D) Projected profiles

140. Apparent shift in the position of object

due to change in the position of

observation is called :

(A) Nadir

(B) Conjugate principal point

(C) Parallax

(D) Crab



141. f6Hlel'4 ^ ^

Tfel?: :

(A) =b<l^l<^ — — itl

H-Jittrt— HfiqiRict)

(B)

(C) %: -^eTT^I—d <^<1 i

(D) ■shrm—

142. r^HNel ^

^ ̂  ̂

%* I 1^ =hK=h ?

(A) r^Hld^ ^ 3T^ cT^

3IRI ^ t

(B)

i

(C) r^HM-4 ^

t

(D) Ri««ia1 ^ "3^ sfk '3^-''j^

(3)S/12/2022/A 29

141. Place the Himalayan Mountains in North

to South order :

(A) Karakoram Ladakh—Zaskar—Pir

Panjal—Shiwalik

(B) Pir Panjal—Shiwalik—^Ladakh—

Hindukush

(C) Pir Panjal—Kailash—Ladakh—

Hindukush

(D) Hidukush—Pir Panjal—^Kailash—

Shiwalik

142. The states of Jammu, Kashmir, Himachal

Pradesh, Uttarkhand, and Bihar are prone

to Earthquakes. What factors are

responsible for it ?

(A) Himalayas have not yet attained

Isostatic equilibrium

(B) Himalayas are tremendously huge

landmass having great height

(C) Plimalayas are seismically stable

landmass

(D) Drifting the Tibetan Plate in the

North and North-East direction

P.T.O,



lU VJh

143. rHHRrlRdd ^ ^ %

WhfhT W ̂ 1^ Wt ̂  ̂

^JTdT t ?

(i) ^ 3TO^ ̂  ̂ fer t I

(ii) 3TtT^ WM f—-Q^

"^TFK ^ik sfk =i*<iiQi

^ 711# ̂  3;ik I

(iii) oqiMcti eir^ 31^ ^ f sik

^id1 ^ 'S^ ̂ 311 "I" I

(A) TlR^ arq^

(B)

(C) "^11^

(D) #eT "^TFT^ "qSR

144. TOkr ̂  OT# # kfe ̂  "qr

# 3k ^ a7M7 TR # -qg?^

3RTk#* k k^nf^ 1^ "w t I

•^nfer t-kiM ̂  7^ ̂  3TOTW ak

^ WR ̂  3iq^ I ^ fkkelfer k'

^ "f^RT k^lf^cl ^Rl

3WT "t* ?

(A) ̂?TcRr3T--q^

(B) klT-^^

(C) ̂ TO~7J#

(D)

143. Read the following statements and state

to which plateau area of peninsular India

does it represent ?

(i) It is bounded by Aravalli Range.

(ii) It has two drainage systems—one

towards the Arabian Sea and the

•  other towards the Bay of Bengal.

(iii) It is composed of extensive lava

flow and is covered by black soil.

(A) Marwar upland

(B) Central Highland

(C) Malwa Plateau

(D) Chota Nagpur Plateau

144. Tlie Indian drainage is broadly divided

into two major systems on the basis of

the 'orientation to the sea*. These include

Bay of .Bengal drainage and Arabian Sea

drainage. They are separated from each

other by which of the following divide ?

(A) Sutlej-Yamuna

(B) Ganga-Jhelum

(C) Beas-Ravi

(D) Chenab-Brahmaputra

(3)S/12/2022/A 30



/

145. ^ wr ^

PdMl^Hld t ?

(A) 3n8fe. (B)

(C) (D)

146. PiHfdRsJd ^

^ ̂cha t" ?

(A) cH f ^

90% ̂  ̂  ̂ t

(B) "M ^ ̂ TTPJFT
^ 3TFm ^ ̂IHM fM^r

3  "^TW ̂  ^

(C) "RpjjEH ^ ̂3TRi ̂  ̂  arteniT

.  3 "wm ̂  1^

(D) 3#^ ̂^<115 tTH^

^  it^

t  ■

147. "3^ ̂  ̂ ^ s^

PiMpriRaa "f^^WcIT^ f' ?

(i) afk ch'ctis ^ liti "W^if

^ 'mai ^

(ii) <^ts 'iR'hi a?iT ^5n?ft

aik ^ t"

(iii) ^ ̂ 3i-qiicti ^ ■^'TT^

(A)

(C) ^

(3)S/12/2022/A

(D)

31

145. What sort of sex ratio is 'Ratio at

Birth' ?

(A) Primary (B) Secondary

(C) Tertiary (D) Quaternary

146. State which of the following is the
indication of drought in respect to
Monsoon ?

(A) A drought occurs when rainfall is
less than 90% of the normal

(B) Maximum delay of Monsoon of 3
weeks from the normal date of

arrival for a given region

(C) A maximum break of 3 weeks after

the timely onset of the monsoon

(D) When the monsoon withdraw from
North-West India by the last week
of July

147. Which of the region of great plains of
North India possess the following
features :

(i) It is formed of coarse materials like

gravel and pebbles.

(ii) Some of the rivers and streams sink

and disappear.

(iii) The velocity of the rivers is
suddenly reduced.

(A) Bhabhar (B) Terai

(C) Bhangar (D) Khadar

P.T.O.



148. 1000 W ̂ ̂  ̂

^ ̂  ̂ f ̂  ^ tR

^ ̂ ^FTf "^f ^fedt t :

(A) ̂  3Tk <icHK4i ^

(B) RR#JT RFT^ WT ̂  WT

ARfe-m

(C) ̂  ^ 3k MulHIdl

(D) ^ ̂  3k

149. ̂  ̂ "^aRTR "R^ ^

^ ̂  t I 1¥rWw -a ^ ̂kRT

^  ̂ Titn t ?

(A) ARh'I

(B) "RRri^

(C) "3^

(D) WrfhkT R3R

150. RRcf "A* ^ riHPdR^d R

^  ̂ A* rtA rtA t ?

■  (A) Rf^RHT ak ^

(B) 3RRT^ As t™

(C) Rgrff rA

(D) kilA^ ak ̂ ?kR7 rjri

148. 1000 mni isohyte is the boundary

between which two regions of India

which roughly divides the country into

two equal parts ?

(A) Wheat and Rice growing region

(B) Prime meridian for Indian Standard

Time

(C) Wet evergreen forests and Dry

Deciduous forests

(D) Clayey soil regions and sandy soil

regions

149. The mineral wealtli of India is associated

with the geological fonnation of the

rocks. Which of the following regions is

devoid of the minerals ?

(A) Kutch Basin

(B) Indus Tsangpo

(C) Northern Plain

(D) Peninsular Plateau

150. The coal deposits in India are found in

which of tlie following regions ?

(A) Gondwana and Tertiary fields

(B) Sedimentary Bed Rocks

(C) Anticline of Rocks

(D) Mesozoic and Tertiary geological

periods
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